[ number of missing inner layers | [ number of missing outer layers |

1g - - - - —| Entries 13229 1 - Entries 13229
3 : : : : + | Mean 0.113 E : Mean 1.761
F Std Dev 0.3432 H : Std Dev 2.326
- I 1 | T . : I
107E Entries 13204 10°E : Entries 13204
E Mean 0.1136 E Mean 1.762
N Std Dev 0.3435 N Std Dev 2.327
1072 Losootocost 1072 :
3L -3
10 °E 10 °E
107 107
= N A PR . (R P -5
10 °E 10 °E
01959’_'"'!""!""!""""!""!"".""!""!"" 01959'_ PP B
g - g f
o [ . ; ] H H o L
e ! Bl i ) Wl e el il A Rl
r r T
0.95 i R T 0.95 : :
0V 05 115 2 25 3 35 4 45 5 0 5 10 15 20 25
mean hi
= 20 Entries 13229
3 12.68
10
0 5.115
2 18F RSN |
N
Entries 13204
(%]
E 16 Mean 12.66
V14 StdDev _ 5.119
10? o
Entries 13206
12 Mean 12.67
Std Dev 5.123
10, R SRR
Entries 13226
8 12.68
o 5.113
6
4
2 1=
o ;.UC o ;.uo:
IS IS r
o @ [
1 iy
0.95 0.95F e
= 3 0 30 35 40
track n track hits
[ N of reco track vs pT |
Entries 133002 Entries 16768
Mean 2.164 r Mean 1.455
Std Dev 6.079 . Std Dev 7.822
: I 107 g |y T T i
Entries 133002 - Entries 16751
Mean 2.164 r Mean 1.46
Std Dev 6.079 > Std Dev 7.848
; T 10°F ; T
Entries 133002 F Entries 16731
Lﬁi?n 2.164 o Mean 1.46
SteyDev 6.079 3 Std Dev 7.852
: 10°E 3
Entries 133002 E Entries 16772
N Mean 2.164 - Mean 1.449
k:_ """"" : Std D:cv 6.079 10—4 = StdD 7.806
]
10°F
010%—
=
=] [
o [
1—- Lol 7
0.95




	Contents
	Page 1


